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QUESTION 1

What is CRI-O?

A. A Windows .NET compatibility library available in the OpenShift Developer Catalog

B. A Kubernetes native container runtime implementation that integrates closely with CoreOS

C. The graphical user interface for Operators to administer applications/workloads running on OpensShift D. An optional
version of Docker optimized for OpenShift when running on cloud provider platforms

Correct Answer: B

QUESTION 2

Which statement is true about IBM Event Streams?

A. A hierarchical Pub/Sub topic architecture is available

B. All servers must be located in the same data center

C. Persistent storage is enabled by default

D. By default the consumers offset is automatically committed in the background

Correct Answer: A

QUESTION 3

Which situation would lead to loss of an etcd quorum in an OpenShift v4 cluster?
A. The database used by all Cloud Pak for Integration components is corrupted
B. OpenShift has lost all worker nodes

C. The majority of master/control plane hosts are lost

D. One of the master nodes has gone off line

Correct Answer: A

QUESTION 4
Which statement regarding the IBM Entitled Registry key is true?
A. Itis used by the Asset Repository to synchronize with a remote Git repository

B. It is configured in the Platform Navigator
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C. Itis required to enable Cloud Pak for Integration capabilities
D. It is used by the network-based installer

Correct Answer: C

QUESTION 5

What is the IBM App Connect Enterprise Toolkit?

A. A high availability management tool

B. A command-line interface for App Connect integration

C. A web user interface for accessing integration server resources
D. A graphical user interface for message flow development

Correct Answer: A
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